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Section 1 - PaperI-English Language 

 

1) What is the plural form of Sister-in-law?  

A) Sister's-in-law  
B) Sisteres-in-law  
C) Sister-in-laws  
D) Sisters-in-law  

 

 
 
2) Find the most appropriate opposite meaning word: 
CULPABLE  

A) Liable  
B) Immune  
C) Responsible  
D) Impeachable  

 

 
 
3) Select the correct option.  
The Rime of ___________ ancient mariner. 

 
A) the  
B) no article  
C) a  
D) an  

 

 
 
Read the passage and answer the questions that follow: 
 
A rainbow is a meteorological phenomenon that is caused 
by reflection, refraction and dispersion of light in water 
droplets resulting in a spectrum of light appearing in the 
sky. It takes the form of a multicoloured circular arc. 
Rainbows caused by sunlight always appear in the section 
of sky directly opposite the sun.Rainbows can be full 
circles. However, the observer normally sees only an arc 
formed by illuminated droplets above the ground, and 
centred on a line from the sun to the observer's eye.In a 
primary rainbow, the arc shows red on the outer part and 
violet on the inner side. This rainbow is caused by light 
being refracted when entering a droplet of water, then 
reflected inside on the back of the droplet and refracted 
again when leaving it.In a double rainbow, a second arc is 
seen outside the primary arc, and has the order of its 
colours reversed, with red on the inner side of the arc. This 
is caused by the light being reflected twice on the inside 
of the droplet before leaving it.A rainbow is not located at 
a specific distance from the observer but, comes from an 
optical illusion caused by any water droplets viewed from 
a certain angle relative to a light source. Thus, a rainbow 
is not an object and cannot be physically approached. 
Rainbows span a continuous spectrum of colours. Any 

distinct bands perceived are an artefact of human colour 
vision, and no banding of any type is seen in a black-and-
white photo of a rainbow, only a smooth gradation of 
intensity to a maximum, then fading towards the other 
side. For colours seen by the human eye, the most 
commonly cited and remembered sequence is Newton's 
sevenfold red, orange, yellow, green, blue, indigo and 
violet, remembered by the mnemonic Richard Of York 
Gave Battle In Vain (ROYGBIV). Rainbows can be caused 
by many forms of airborne water. These include not only 
rain, but also mist, spray, and airborne dew.  

4) The mnemonic used for remembering the colour 
sequence is  

A) Richard Of York Gave Banner In Vain  
B) Battle of York grieved Russells vanity  
C) Richard Of York Gave Battle In Vain  
D) Russell Of York Gave Battle In Vain  

 

 
 
5) The color Red on the inner side of the arc is seen in  

A) a double rainbow  
B) the primary arc  
C) a single rainbow  
D) the 2nd arc  

 

 
 
6) Rainbow is caused by the dispersion of  

A) water droplets  
B) the clouds  
C) a light  
D) a circular arc  

 

 
 
7) In a black and white photo, a rainbow  

A) looks grey  
B) is invisible  
C) uniformly black  
D) looks dark and faded  
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8) Rainbows can also be caused by  

A) Infrared rays  
B) Ultraviolet rays  
C) Airborne dew  
D) Prism molecules in the sky  

 

 
 
9) Find the most appropriate opposite meaning word: 
RELINQUISH  

A) Possess  
B) Deny  
C) Renounce  
D) Claim  

 

 
 
10) Select the correct form of verb from the given options.  
Don't be so noisy. Radhika ____________ to study for her 
public exam! 

 
A) tries  
B) is trying  
C) has tried  
D) tried  
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Section 2 - PaperI-Education and General Awareness 

 

11) As per Article 55 of the Constitution of India, the 
election of who among the following shall be held in 
accordance with the system of proportional representation 
by means of single transferable vote?  

A) The Chief Election Commissioner  
B) The President  
C) The Chief of the Army Staff  
D) The Governor  

 

 
 
11) ଭାରତୀୟ ସମିȴଧାନର ଅନୁେŒଦ 55 ଅନୁସାେର ସŏିǤ  ǺାନȷଫେରବǤ  
େଭାǓ  ମାżମେର ଆନୁପାତକି ȄତନିǇିŭ ବȻବƳା ଅନୁସାେର ନମିȪମżରୁ କାହାର 
ନବିƽାଚନ କରାଯାଏ?  

A) ମଖୁȻ ନବିƽାଚନ କମଶିନର  
B) ରାƩପତ ି 
C) ଆମǃ ƨାǞ  ŋ ମୁଖȻ  
D) ରାଜȻପାଳ  

 

 
 
12) The function of NIEPA is Integrating educational 
studies and researches under the area of __________  

A) school and curriculum development  
B) educational administration and curriculum 

development  
C) educational planning and administration  
D) educational planning and curriculum development  

 

 
 
12) ଏନ.ଆଇ.ଇ.ପି.ଏ ର କାଯƽȻ େହଉଛ ି େକଉଁ େŁǿ ଅǇନେର ଶିŁାଗତ 
ଅżୟନ ଏବଂ ଅନୁସƆାନକୁ ଏକାଠି କରବିା?  

A) ବଦିȻାଳୟ ଏବଂ ପାଠȻǰମ ବକିାଶ  
B) ଶŁିାଗତ Ȅଶାସନ ଏବଂ ପାଠȻǰମ ବକିାଶ  

C) ଶŁିାଗତ େଯାଜନା ଏବଂ Ȅଶାସନ  
D) ଶŁିାଗତ େଯାଜନା ଏବଂ ପାଠȻǰମ ବକିାଶ  

 

 
 
 
 
 
 

13) To reach high quality educational content to the most 
backward areas using satellite communication, 32 DTH 
channels have been made functional, under  

A) Unnat Bharat Abhiyan (UBA)  
B) SWAYAM Prabha programme  
C) “Institutions of Eminence” (IoE)  
D) Ek Bharat Shreshtha Bharat programme  

 

 
 
13) ଉő ଗୁଣବŧାର ଶŁିା ବଷିୟବƱୁଗଡୁକି ସȻାେଟଲାଇଟ େଯାଗାେଯାଗ 
ମାżମେର ସବୁଠାରୁ ପଛୁଆ ଅřଳେର ପହřବିା ପାଇଁ, େକଉଁ କାଯƽȻǰମ ଅǇନେର 
32 ଟ ିଡଟିଏିଚ ଚȻାେନଲକୁ ସǰିୟ କରାଯାଇଛ?ି  

A) ଉƊତ ଭାରତ ଅଭିଯାନ (ୟୁବଏି)  
B) Ƹୟǡ  Ȅଭା କାଯƽȻǰମ  
C) "ଇନƨଚୁିȻସǜ ସ ଅଫ ଏମିେନǜ ସ" (ଆଇଓଇ)  
D) ଏକ ଭାରତ େȎƪ ଭାରତ କାଯƽȻǰମ  

 

 
 
14) Which of the following options is one of the purposes 
of Ram Murti Review Committee?  

A) Making the Operation Black Board Scheme of 1986 
policy more successful  

B) Suggesting measure for mid-day meal scheme  
C) Developing programme for vocational education  
D) Making primary education accessible  

 

 
 
14) ନମିȪମżରୁ େକଉଟଁ ିରାମ ମତୂǃ ସମୀŁା କମଟିରି େଗାଟଏି ଉେŵଶȻ ǆଲା?  

A) ଅପେରସନ 1986 ବȲାǉ  େବାଡƽ Ưିǡ  କୁ ଅǇକ ସଫଳ କରିବା  
B) ମżାƊ େଭାଜନ େଯାଜନା ପାଇଁ ନୟିାମକ ȄƱାବ  

C) ଧƃାମୂଳକ ଶŁିା ପାଇଁ କାଯƽȻǰମ ବକିାଶ କରବିା  
D) Ȅାଥମିକ ଶŁିାକୁ ସଗୁମ କରବିା  
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15) Which of the following diseases is generally spread by 
mosquitoes?  

A) Chicken pox  
B) Tetanus  
C) Yellow fever  
D) Typhus  

 

 
15) ଏଗୁଡକି ମżରୁ େକଉଁ େରାଗ ସାଧାରଣତଃ ମଶାŋ Ÿାରା ବȻାପିଥାଏ?  

A) ହାଡଫୁଟ ି 
B) ଟଟିାନାସ  

C) ହଳଦଆି Řର  
D) ଟାଇଫǩ   
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Section 3 - PaperI-Reasoning 

 

16) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some profits are losses. 
Some losses are shares. 
Some shares are prices. 
 
Conclusions: 
I) Some profits are shares. 
II) Some losses are prices. 
III) Some prices are shares. 
IV) Some prices are losses.  

A) Only II follows  
B) Only IV follows  
C) Only I follows  
D) Only III follows  

 

 
 

16) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିǜତୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଟଁା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ 
ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ିଲାଭ େହଉଛ ିŁତ ି। କଛି ିŁତ ିେହଉଛ ିଅଂଶଧନ  । କଛି ିଅଂଶଧନ 
େହଉଛ ିପଇସା । 

ନƦିସƽ:  

I)  କଛି ିଲାଭ େହଉଛ ିଅଂଶଧନ  

II)  କଛି ିŁତ ିେହଉଛ ିଟŋା    

lll)  କଛି ିଟŋା େହଉଛ ିଅଂଶଧନ ।  

IV) କଛି ିଟŋା େହଉଛ ିŁତ ି। 

A) େକବଳ II ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ  IV ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ I ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ III ଅନୁସରଣ କରŽୁ ।  

 

17) What is the sub-triplicate ratio of 4913 : 6859?  

A) 18 : 19  
B) 17 : 19  
C) 17 : 18  
D) 19 : 21  

 

 
 
17) 4913 : 6859 ର ସǟ-ǿପିଲେକǓ ଅନୁପାତ େକେତ େହବ ?  

A) 18 : 19  
B) 17 : 19  
C) 17 : 18  
D) 19 : 21  

 

 
 
18) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
S is the father in law of P, who is a male. How is K 
related to S? 

Statement I : K has two daughters. 

Statement II : K is the father of P 

 
A) 3  
B) 2  
C) 4  
D) 1  
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18) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

S େହଉଛ ିP ର ଶȭଶୁର, ପୁରୁଷ କଏି । 

K ସହ S ର ସƓକƽ କଣ ? 

ମŽବȻ I : K ର ଦୁଇଟ ିଝଅି ଅଛ ି। 

ମŽବȻ II : K େହଉଛ ିPର ବାପା। 

 
A) 3  
B) 2  
C) 4  
D) 1  

 

 
 
19) If in a certain code language, FOLLOW is written as 
HMNJQU, then how SECTOR will be written in the same 
code language?  

A) QCARMP  
B) QGAVMT  
C) UGEVQT  
D) UCERQP  

 

 
 
19) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର, FOLLOW କୁ HMNJQU ଭାେବ 
େଲଖାଯାଇଛ ି , ତାେହେଲ SECTOR କୁ େସହ ି ସମାନ ସାେŋତକି ଭାଷାେର 
କଭିଳ ିେଲǅେବ?  

A) QCARMP  
B) QGAVMT  
C) UGEVQT  
D) UCERQP  

 

 
 
 
 
 
 

20) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All the arteries are organs. 
Some bones are arteries 
 
Conclusions: 
I) All the arteries are bones. 
II) Some bones are organs.  

A) None follow  
B) Only I follows  
C) Only II follows  
D) Both I and II follow  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: ସବୁ ଧମନୀ ଗଡୁକି ଶରୀର ଅଂଗ । କଛି ିହାଡ େହଉଛ ିଧମନୀ । 

ନƦିସƽ:  

I) ସବୁ ଧମନୀ ଗଡୁକି ହାଡ ।  

II) କଛି ିହାଡ଼ େହଉଛ ିଶରୀରର ଅଂଗ । 

 
A) େକୗଣସ ିକରŽୁ ନାହǂ  
B) େକବଳ I ଅନୁସରଣ କରŽୁ  
C) େକବଳ II ଅନୁସରଣ କରŽୁ  

D) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Who said, "Education is a natural, harmonious and 
progressive development of man's innate powers."  

A) Froebel  
B) Freud  
C) Pestalozzi  
D) Spencer  

 

 
 
21) କଏି କହǆିେଲ େଯ ‘‘ଶŁିା େହଉଛ ିମଣିଷର ସହଜାତ ଶĽିର ଏକ Ȅାକୃତକି, 
ସଦଭାବପťୂƽ ଏବଂ Ȅଗତଶିୀଳ ବକିାଶ ।’’  

A) େȅାେବǤ  

B) େȅଉǕ  

C) େପƱାେଲାଜ ି 
D) େƶନସǣ  

 

 
 
22) In context of Classroom rules, read the following 
statements and choose the CORRECT option.  
(i) When deciding on classroom rules, make sure that they 
are easily understood, specific and behavioural. 

(ii) Do not include common classroom procedures in the 
official set of classroom rules. 

 
A) (i) is FALSE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is TRUE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
22) େȎଣୀଗହୃ ନୟିମ ସƃଭƽେର, ନମିȪ ଉĽିଗଡ଼ୁକୁି ପଢ଼Žୁ ଏବଂ ସଠକି ବକିƝଟ ି
ବାଛŽୁ |  
(i) େȎଣୀଗହୃ ନୟିମ ନŶିƽାରଣ କରବିା ସମୟେର ସନୁƢିିତ କରŽୁ େଯ େସଗଡ଼ୁକି 
ସହଜେର ବୁଝ ିେହଉǆବ, ନŵିǃƨ େହାଇǆବ ଏବଂ ଆଚରଣ ସମȴƆତି େହାଇǆବ | 

(ii) ଆǇକାରିକ େȎଣୀଗହୃ ନୟିମ ଗଡ଼ୁକି ମżେର ସାଧାରଣ େȎଣୀଗୃହ 
ପŶତଗିଡ଼ୁକି ଅŽଭƽୁ Ľ ନାହ ǂ | 

A) (i) େହଉଛ ିଭୁଲ ଏବଂ (ii) େହଉଛ ିଭୁଲ  

B) (i) େହଉଛ ିଭୁଲ ଏବଂ (ii) େହଉଛ ିଠକି  
C) (i) େହଉଛ ିଠକି ଏବଂ  (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଠକି ଏବଂ (ii) େହଉଛ ିଭୁଲ  

 

23) Which of the following statements is FALSE with 
reference to Teacher-centered approach to learning?  

A) Teachers are the main authority figure in this 
approach  

B) Teaching and assessment are viewed as two 
separate entities  

C) Student learning is continuously measured during 
teacher instruction  

D) Student learning is measured through objectively 
scored tests and assessments  

 

 
 
23) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବĽବȻ ଶିǅବା ପାଇଁ ଶŁିକ େକƄତି ଦୃƨେିକାଣ 
ସƃଭƽେର ଭୁଲ (FALSE) ଅେଟ?  

A) ଏହ ିଦୃƨେିକାଣେର ଶŁିକ ମଖୁȻ ȄାǇକାରୀ ଅଟŽ।ି  
B) ଶŁିଣ ଓ ମଲୂȻାŋନ କୁ ଦୁଇଟ ିଭƊି ଭିƊ ସଂƳା ରୂପେର େଦଖାଯାଇଥାଏ।  
C) ଶŁିକ ଶŁିା େଦବା ସମୟେର ଛାǿ ର ଶǅିବା କୁ ǰମାଗତ ଭାବେର ମପା 

ଯାଇଥାଏ।  
D) ଛାǿ ଶǅିବା କୁ ଉେŵଶȻପୂťƽ ପରୀŁଣ ଓ ଆକଳନ ମାżମେର 

ମପାଯାଇଥାଏ।  
 

 
 
24) Input-rich communicational environments are 
essential for language learning. Inputs include all of the 
following options EXCEPT  

A) News papers  
B) Research material  
C) Text books  
D) Class libraries  

 

 
 
24) ଇନପଟୁ-ବହୁଳ େଯାଗାେଯାଗପťୂƽ ପରିେବଶଗଡୁକି ଭାଷା ଶŁିା ପାଇଁ 
ଅତȻାବଶȻକ | ଇନପୁଟଗଡୁକିେର ନମିȪମżରୁ ସମƱ ଅŽଭƽୁ Ľ କŽୁି େକଉଁଟ ି
ଅŽଭƽୁ Ľ ନୁେହ?ଁ  

A) ଖବଜକାଗଜ  
B) ଗେବଷଣା ସାମǲୀ  
C) ପାଠȻ ପୁƱକ  

D) େȎଣୀ ପାଠାଗାର  
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25) When young children are made to play with mud, it 
gives an exercise to their  

A) auditory senses  
B) olfactory senses  
C) kinesthetic senses  
D) visual senses  

 

 
 
25) େଯେତେବେଳ ବଡ଼ ପଲିାମାେନ କାଦୁଅେର େଖଳŽ,ି ଏହା ତାŋର େକଉ ଁ
Ȅକାର ଅଭȻାସ କରାଏ ?  

A) Ȏବଣ ଅନୁଭୂତ ି 

B) ǳାଣ ଅନୁଭୂତ ି 
C) Ȅାେୟାଗକି ଅନୁଭୂତ ି 

D) ଦୃଶȻ ଅନୁଭୂତ ି 
 

 
 
26) NIEPA is an Institute established by the Government 
of India dealing with management of education. What 
does NIEPA stand for?  

A) National Institute of Educational Planning and 
Administration  

B) Neo Institute of Educational Planning and 
Administration  

C) National Institute of Environmental Planning and 
Administration  

D) National Institute of Educational Phase and 
Administration  

 

 
 
26) ଏǜ ଆଇଇପିଏ ଭାରତ ସରକାରŋ Ÿାରା ଶŁିାର ପରଚିାଳନା ବଷିୟ ବୁଝବିା 
ନମିେŽ Ƴାପତି ଏକ ଅନୁƪାନ। ଏǜ ଆଇଇପିଏ (NIEPA) କ’ଣ ବୁଝାଏ?  

A) ନȻାସନାǤ  ଇନƨିଚୁȻǓ  ଅǞ ଏଡୁେକସନାǤ  ପȲାନଂି ଆŢ ଆଡମିନେିƩସǜ   
B) ନଓି ଇନƨିଚୁȻǓ  ଅǞ ଏଡୁେକସନାǤ  ପȲାନଂି ଆŢ ଆଡମିନେିƩସǜ   
C) ନȻାସନାǤ  ଇନƨିଚୁȻǓ  ଅǞ ଏǜ ଭାଇେରାǜ େମŠାǤ  ପȲାନଂି ଆŢ 

ଆଡମିନେିƩସǜ   
D) ନȻାସନାǤ  ଇନƨିଚୁȻǓ  ଅǞ ଏଡୁେକସନାǤ  େଫǐ  ଆŢ ଆଡମିନେିƩସǜ   

 

 
 
 
 
 
 

27) Which one of the following teaching tactics is adopted 
in Signal learning structure?  

A) Help the learner to generalize and build rule  
B) Presenting chain before the students  
C) Practise correct responses to the mastery level  
D) Helping in discriminating one category from another 

 

 
 
27) ସଗିନାǤ ଶŁିଣ ଢାଂଚାେର ନମିȪଲିǅତ ମżରୁ େକଉଁ ଶŁିାଦାନ ଉପାୟଟକୁି 
ǲହଣ କରାଯାଇଥାଏ ?  

A) ଶŁିାଥƽୀକୁ ସମାନȻକୃତ ଓ ନୟିମ ଗଠନେର ସାହାଯȻ କରବିା  
B) ଛାǿŋ ସƙଖୁେର ଶୃŎଳ ଉପƳାପନ କରବିା  
C) ନପୁିଣତା Ʊରେର ରହ ିସଠǉି Ȅତǰିିୟାଗୁଡକୁି ଅଭȻାସ କରବିା  
D) େଗାଟଏି େȎଣୀଠାରୁ ଅନȻେȎଣୀକୁ େଭଦଭାବେର ସାହାଯȻ କରବିା  

 

 
 
28) Decreasing poverty, decreasing child mortality rate, 
encouraging gender equality and increasing 
environmental concern', are the positive effects of 
Education according to which of the following 
organizations?  

A) WTO  
B) UNESCO  
C) UNICEF  
D) WHO  

 

 
 
28) ଦାରȁିତା କମିବା, ଶଶିୁ ମୃତୁȻ ହାର କମିବା, େଲୖŏିକ ସମାନତା କୁ େȄାŰାହନ 
କରବିା ଓ ପଜƽȻାବରଣ ର ଚŽିା ବଢବିା ଇତȻାଦ ିନମିȪଲିǅତ ମż ରୁ େକଉଁ ସଂଗଠନ 
ଅନୁସାେର ଶŁିା ର ସକାରାŮକ Ȅଭାବ ଅେଟ?  

A) WTO  

B) UNESCO  
C) UNICEF  

D) WHO  
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29) Which of the following statements is INCORRECT 
with reference to maximizing learning and teaching time 
in a classroom?  

A) Lesson plans should be well-designed and they 
should provide clear learning objectives for students  

B) Write learning objectives, problems and examples on 
the board, flip-chart paper, before the class begins  

C) Have an organized plan if your planned lesson for the 
day runs short or you need to fill time  

D) Lesson plans should be fixed and followed very rigidly 
under all circumstances for maximizing learning  

 

 
 
29) େȎଣୀଗୃହେର ଶǅିବା ଏବଂ ପଢ଼ାଇବା ସମୟ ବଢ଼ାଇବା ସƃଭƽେର ନମିȪମżରୁ 
େକଉଁ ଉĽିଟ ିଭୁଲ ଅେଟ ?  

A) ପାଠȻǰମଗୁଡ଼କି ଭଲଭାବେର ଡଜିାଇନ କରାଯିବା ଉଚତି ଏବଂ ବଦିȻାଥƽୀŋ 
ପାଇଁ ଅżୟନ ଉେŵଶȻ ƶƨ ଭାବେର ଦଆିଯିବା ଉଚତି |  

B) େȎଣୀ ଆରƗ ପୂବƽରୁ ଅżୟନର େବାଡƽ ଉପେର ବା ଫିȲପ-ଚାଟƽ େପପର େର 
ଉେŵଶȻ, ଅସୁବଧିା ଏବଂ ଉଦାହରଣ େଲǅବା  

C) ଏକ ସଂଗଠତି େଯାଜନା ରǅବା ଯଦ ିେକେବ ଦନିକ ପାଇଁ ଆପଣŋ େଯାଜନା 
କରାଯାଇǆବା ପାଠȻǰମ କମ ପଡ଼ଯିାଏ ଅଥବା ଆପଣŋୁ ସମୟ ସƓୂťƽ 
କରବିା ଦରକାର ପେଡ଼ |  

D) ଅżୟନକୁ ବଢ଼ାଇବା ପାଇଁ ସମƱ ପରƳିିତେିର ପାଠȻǰମଗଡ଼ୁକି ନŶିǃƨ େହବା 
ଉଚତି ଏବଂ ବହୁତ କେଠାର ଭାବେର ଅନୁସରଣ କରାଯବିା ଉଚତି |  

 

 
 
30) Which among the following options CANNOT be 
covered under the non-formal mode of education?  

A) Small duration vocational courses  
B) Special training for entrepreneurs  
C) e-learning courses for academics  
D) Hobby courses  

 

 
 
30) ଶŁିାର ଅେନୗପଚାରକି ପŶତ ି ଅଧୀନେର ନେିମȪାĽ ମżରୁ େକଉଁ ବକିƝ 
ପରସିରଭୁĽ େହାଇପାରବି ନାହ ǂ?  

A) Łȁୁ ଅବǇ ବୃŧଗିତ ପାଠȻǰମ  
B) ବେିଶଷ ତାଲିମ ପାଇଁ ଉେଦȻାଗୀମାନŋ ତାଲିମ  

C) ଶŁିାବǚି ମାନŋ ପାଇଁ ଇ-ଲťǃଂ ପାଠȻǰମ  
D) େସୗǅǜ  ପାଠȻǰମ  
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Section 5 - PaperII-Odia Language 

 

31) ବେିଶଷȻ ପଦ ପେର ବେିଶଷଣ ପଦ ବȻବହୃତ େହେଲ ତାକୁ କ ି Ȅକାର 
ବେିଶଷଣ କୁହାଯାଏ ?  

A) ବେିଶଷȻ ରୂପୀ ବେିଶଷଣ  
B)  ǰିୟା ବେିଶଷଣ  

C) ଅବȻୟର ବେିଶଷଣ  
D) ବେିଧୟ ବେିଶଷଣ  

 

 
 

32) ଭƊିଧମƽୀ ଶƑଟ ିଚƺିଟ କର |  

A) ଜଣାଣ  

B) ଗାୟକ   
C) ରƆନ  
D) େଭାଜନ  

 

 
 

33) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଯାଡ଼ା ଶƑ ପରƶରର ବପିରୀତ ନୁେହ ଁ?  

A) ସତୃƫ-ବତୃିƫ  

B) ସƗବ-ଅସƗବ   
C) ସାମȻ-Ƹତſ  
D) Ƴିର-ଅƳିର   

 

 
 

34) ନେିମȪାĽ ମżରୁ େକଉଁଟ ିଉପସଗƽେର ଗଠତି ଶƑ ନୁେହ ଁ?  

A) ବାଦ  

B) ଅନୁବାଦ  
C) Ȅତବିାଦ  

D) ସଂବାଦ  
 

 
 

35) ' ଗାେŏୟ' ଶƑର ବୁȻŬŧ ିଗତ ଅଥƽ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଠକି ଦଶƽାଅ 
|  

A) ଗŏାŋର ସŽାନ  

B) ଗŏାମାତା  
C) ଗŏାପତ ି  

D) ଗŏାର ଉŬŧ ି 
 

 

36) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଯାଡ଼ା ପରƶରର ବପିରୀତ ଶƑ ନୁହŽଁ ି?  

A) ଦୁƦତୃ-ିସକୃୁତ ି  

B) େଦାଷୀ-ନେିŵƽାଷ    
C) ŗାତ-ଅŗାତ  
D) କାŽ-ପତ ି  

 

 
 
37) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘ସଯୂƽȻ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ?  

A) ସଧୁାଂଶୁ   
B) ଶଶାŋ   

C) ଇƃୁ  
D) ତପନ  

 

 
 
38) ଆରବୀ ଶƑ ' ଅǅତଆିର' ର ଓଡ଼ଆି ଶƑ କଣ େହବ ?  

A) ଖାତରି  
B) ଖȻାତରି  

C)  ଅĽିଆର  
D) ଅଖାତରି  

 

 
 
39) ରାମ େଗାଟଏି େବାକା ପିଲା | େରଖାŋିତ ଶƑଟ ିେକଉଁ େȎଣୀଭୁĽ ?  

A) େଦଶଜ  
B) ତǚ ଭବ  
C)  ତǘ ସମ  

D) େବୈଦଶିକ   
 

 
 
40) ‘ଜଗŔନନୀ’ ଶƑଟ ିବȻାକରଣର େକଉଁ ନୟିମେର ଗଠିତ େହାଇଛ ି?  

A) କୃଦŽ  

B) ତŶିତ  
C) ଉପସଗƽ  
D) ସƆ ି 
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41) ‘ଅହନିକୁଳ ସଂପକƽ’– ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) େଘାର ଶତƿତା  
B) ମǿିତା  
C) ଏକମାǿ ସହାୟ    
D) ମଧୁର ସଂପକƽ     

 

 
 
42) ନମିȪଲିǅତ େକଉଁ ଶƑଟ ି‘ପୁରǩ ’ ଅବȻୟ Ÿାରା ଗଠତି ?  

A) ପୁେରାଭାଗ  
B) ȄତପିŁ  
C) Ȅତମିୂŧǃ   
D) Ȅତକୃିତ ି 

 

 
 
43) ‘ଅଲଣା କଥା’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ବȻଥƽ କଥା   
B) ମଲୂȻହୀନ କଥା  
C) ଅନଥƽ ଘଟବିା  
D) ଖାଦȻେର ଲୁଣ ପକାଇବା  

 

 
 
44)  'ଖǩ ଖǩ' ଶƑଟ ିେକଉଁ Ȅକାର ଯଗୁȯ ଶƑ ?  

A) ସମାନଥƽକ  

B) ŸରୁିĽି  
C) ŻନȻାŮକ  
D) ବପିରୀତାଥƽକ  

 

 
 
45) ନମିȪଲିǅତ ଶƑ ମżରୁ ǰୟିାଜ ବେିଶଷଣ ପଦଟକୁି ଚƺିଟ କର |  

A) ସାମାନȻ  
B) ଜଣାଶୁଣା  
C) ଶାŽଶିƨ  
D) େମଧାବୀ   
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Section 6 - PaperII-Mathematics 

 

46) If A = {1,2,3,6,8,10} and B = {4,5,9,12}, then A∩B is  

A) {1,2,3,6,8,10}  
B) {1,2,4,6,9,12}  
C) Ø  
D) {1,2,6}  

 

 
 
46) ଯଦ ିA = {1,2,3,6,8,10} ଓ B = {4,5,9,12}, େତେବ A∩B େହଉଛ ି 

A) {1,2,3,6,8,10}  
B) {1,2,4,6,9,12}  
C) Ø  
D) {1,2,6}  

 

 
 
47) The ratio of two numbers is 3 : 4 and their H.C.F. is 6. 
Their L.C.M. is  

A) 72  
B) 16  
C) 48  
D) 24  

 

 
 
47) ଦୁଇଟ ି ସଂଖȻାର ଅନୁପାତ 3 : 4 ଏବଂ େସମାନŋର ଗ.ସା.ଗ.ୁ 6 । 
େସମାନŋର ଲ.ସା .ଗୁ .େହଉଛ ି   

A) 72  
B) 16  
C) 48  

D) 24  
 

 
 
48) If the side lengths of a square are doubled then the 
area of a square  

A) increases by 8 times  
B) remains the same  
C) increases by 4 times  
D) increases by 2 times  

 

 
 
 

48) ଯଦ ିବଗƽେŁǿର ପାƤƽର େଦଘୖƽȻ Ÿଗିଣୁିତ ହୁଏ େତେବ ବଗƽେŁǿର େŁǿଫଳ  

A) 8 ଗଣୁ ବୃŶ ିପାଇଥାଏ  

B) ସମାନ ରୁେହ  
C) 4 ଗଣୁ ବୃŶ ିପାଇଥାଏ  
D) 2 ଗଣୁ ବୃŶ ିପାଇଥାଏ  

 

 
 
49) What is the least number that leaves a remainder of 
3, when divided by 5, 9, 10 and 20?  

A) 73  
B) 363  
C) 183  
D) 93  

 

 
 
49) 5, 9, 10 ଏବଂ 20 Ÿାରା ଭାଗ କରାଗେଲ ୩ ଭାଗେଶଷ ରହୁǆବା ସବƽନମିȪ 
ସଂଖȻା କ’ଣ?  

A) 73  
B) 363  
C) 183  

D) 93  
 

 
 
50) Two sides of a triangle are 7 cm and 13 cm 
repectively. If the perimeter is 27cm, then the third side is 
equal to  

A) 10 cm  
B) 7 cm  
C) 8 cm  
D) 9 cm  

 

 
 

50) ଏକ ǿଭୁିଜ ର ଦୁଇଟ ିବାହୁ ǰମଶଃ 7 େସମି ଓ 13 େସମି ଅେଟ। ଯଦ ିପରǇି 
27େସମି ଅେଟ, େତେବ ତୃତୀୟ ବାହୁ __________ ସହତି ସମାନ ଅେଟ।  

A) 10 େସମି  
B) 7 େସମ ି 
C) 8 େସମ ି 
D) 9 େସମ ି 
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51) In a square with side length 7 cm there is an inscribed 
circle. In this circle there is an inscribed square. Again 
there is an inscribed circle in this square. Circles and 
squares are inscribed this way alternatively infinity times. 
The sum of the areas (in sq.cm) of all these squares is  

A) 98  
B) 24.5  
C) 176  
D) 49  

 

 
 
51) େଗାଟଏି ବଗƽେŁǿର ବାହୁର େଦଘୖƽȻ 7 େସ.ମି. ଏବଂ ଏହା ମżେର ଏକ ବୃŧ 
ଅŋିତ େହାଇଛ।ି ଏହ ିବୃŧ ମżେର ଏକ ବଗƽେŁǿ ଅŋିତ େହାଇଛ।ି ଏହା ପେର 
ଏହ ି ବଗƽେŁǿେର ଏକ ବୃŧ ଅŋିତ େହାଇଛ।ି ବୃŧ ଏବଂ ବଗƽେŁǿ ଏହପିର ି
ଭାବେର ଅସୀମ ସଂଖȻକ ଭାବେର ଅŋିତ େହାଇଛ।ି ଏ ସମƱ ବଗƽ େŁǿର 
େŁǿଫଳ (ବଗƽ େସ.ମି.େର)ର ସମƨି େହଉଛ ି 

A) 98  
B) 24.5  

C) 176  
D) 49  

 

 
 
52) If a student multiplied a number by 3/5 instead of 5/3, 
what is the percentage of error in his calculation?  

A) 64%  
B) 48%  
C) 24%  
D) 68%  

 

 
 
52) ଯଦ ିଜେଣ ଛାǿ େଗାଟଏି ସଂଖȻାକୁ 3/5 ବଦଳେର 5/3େର ଗୁଣନ କେର, 
େତେବ ତା’ର ଗଣନାେର ତƿଟରି Ȅତଶିତ େକେତ?  

A) 64%  
B) 48%  
C) 24%  
D) 68%  

 

 

 
 
 
 
 

53) 

  
In the given figure, O is the centre of the circle. PQ is a 
tangent. PQ = 55 cm and OQ = 73 cm. The length of OP 
is 

 
A) 50 cm  
B) 48 cm  
C) 45 cm  
D) 44 cm  

 

 
 
53)  

 
ଦଆିଯାଇǆବା ଚǿିେର , O ବୃŧର େକƄ ଅେଟ। PQ ଏକ ଟȻାେśନȡ ଅେଟ। PQ 
= 55 େସମି ଓ OQ = 73 େସମି. େତେବ OP ର ଲମȴ 
_________________ ଅେଟ। 

 
A) 50 େସମି  
B) 48 େସମି  
C) 45 େସମି  
D) 44 େସମି  

 

 
 
54) After simplification, the expression 

 2x − x(5 + y) + 3xy + 4(2x − y) simplifies to  

A) 6xy+5x-4y  
B) 2xy+5x-4y  
C) 3xy+2x-4y  
D) 4xy+15x-4y  
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54) ସରଳୀକରଣ େହବା ପେର, ସମୀକରଣ  

2x − x(5 + y) + 3xy + 4(2x − y) ର ସରଳୀକୃତ ରୂପ େହବ  

A) 6xy+5x-4y  
B) 2xy+5x-4y  
C) 3xy+2x-4y  

D) 4xy+15x-4y  
 

 
 
55) If Rs. 740 is divided into three parts such that second 
part is ¼ of the third part and the ratio between the first 
and the third part is 3 : 5, then the parts are respectively  

A) Rs. 340, Rs. 160, Rs. 240  
B) Rs. 240, Rs. 100, Rs. 400  
C) Rs. 400, Rs. 100, Rs. 240  
D) Rs. 300, Rs. 100, Rs. 340  

 

 
 
55) ଯଦ ିRs. 740କୁ ଏପର ିତନି ିଭାଗେର ଭାଗ କରାଯାଏ େଯ, Ÿତିୀୟ ଭାଗ 
ତୃତୀୟ ଭାଗର ¼ େହବ ଏବଂ Ȅଥମ ଓ ତୃତୀୟ ଭାଗର ଅନୁପାତ 3 : 5 େହବ 
େତେବ ଏହ ିଭାଗଗଡ଼ୁକି ଯଥାǰେମ  

A) Rs. 340, Rs. 160, Rs. 240  
B) Rs. 240, Rs. 100, Rs. 400  

C) Rs. 400, Rs. 100, Rs. 240  

D) Rs. 300, Rs. 100, Rs. 340  
 

 
 
56) Profit of two persons are P and Q respectively in a 
business such that the sum of 5% of P and 4% of Q is two-
third of the sum of 6% of P and 8% of Q. Then the ratio P 
: Q =  

A) 1 : 2  
B) 4 : 3  
C) 2 : 1  
D) 3 : 4  

 

 
 
 
 
 
 
 
 

56) ଦୁଇଜଣ ବȻĽି P ଏବଂ Qŋର େଗାଟଏି ବȻବସାୟେର ଲାଭର ପରମିାଣ 
ଏମିତ ିେଯ P ଅଥƽର 5 Ȅତଶିତ ଏବଂ Q ଅଥƽର ୪ Ȅତଶିତ P ଅଥƽର 6 Ȅତଶିତ 
ଏବଂ Q ଅଥƽର 8 Ȅତଶିତର ସମƨରି ଦୁଇ-ତୃତୀୟାଂଶ। ତା’େହେଲ P:Q=  

A) 1 : 2  
B) 4 : 3  
C) 2 : 1  

D) 3 : 4  
 

 
 
57) Area of a circular park whose diameter measures 77 
cm is  

A) 4212.5 cm²  
B) 5607.5 cm²  
C) 4878.5 cm²  
D) 4658.5 cm²  

 

 
 
57) 77 େସମି ବȻାସ ବଶିƨି ଏକ ବୃŧାକାର ପାକƽର େŁǿଫଳ େହଉେଛା  

A) 4212.5 ବଗƽ େସମି  
B) 5607.5 ବଗƽ େସମି  
C) 4878.5 ବଗƽ େସମି  
D) 4658.5 ବଗƽ େସମି  

 

 
 
58) Two numbers are respectively 25% and 40% more 
than a third number. The ratio of the two numbers is  

A) 25 : 28  
B) 5 : 8  
C) 23 : 28  
D) 28 : 5  

 

 
 
58) ଦୁଇଟ ିସଂଖȻା ତୃତୀୟ ସଂଖȻାଠାରୁ ଯଥାǰେମ 25% ଏବଂ 40% ଅǇକ। 
େସହ ିଦୁଇ ସଂଖȻାର ଅନୁପାତ େହଉଛ ି 

A) 25 : 28  
B) 5 : 8  
C) 23 : 28  

D) 28 : 5  
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59) If 2x/10 + y/5 = 1 and 3x + 2y = 12, then the values of 
x, y respectively are  

A) 2,5  
B) 2,3  
C) 2,4  
D) 2,6  

 

 
 
59) ଯଦ ି2x/10 + y/5 = 1 and 3x + 2y = 12, େତେବ x, y ର ମଲୂȻ 
ଯଥାǰେମ  

A) 2,5  

B) 2,3  
C) 2,4  

D) 2,6  
 

 
 
60) If A and B are two sets, then (AUB) ' is  

A) A' U B'  
B) A' ∩ B  
C) A ∩ B'  
D) A' ∩ B'  

 

 
 
60) ଯଦ ିA ଓ B େହଉଛŽି ଦୁଇଟ ିେସଟ, େତେବ (AUB) ' େହଉଛ ି 

A) A' U B'  
B) A' ∩ B  

C) A ∩ B'  
D) A' ∩ B'  
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Section 7 - PaperII-Social Science 

 

61) Vande Mataram, was sung first time at the session of 
the Indian National Congress held in _______  

A) 1919  
B) 1920  
C) 1896  
D) 1886  

 

 
 
61) ବେƃ ମାତରǡ  Ȅଥମ ଥର ପାଇଁ ଭାରତୀୟ ଜାତୀୟ କଂେǲସର ଅǇେବଶେର 
ଗାନ କରାଯାଇǆଲା। ଏହ ି ଅǇେବଶନ _______ ମସହିା େର ଅନୁƪତି 
େହାଇǆଲା |  

A) 1919  
B) 1920  

C) 1896  

D) 1886  
 

 
 
62) As per Indian Constitution, "To uphold and protect the 
sovereignty, unity and integrity of India" is a _______  

A) Fundamental Right  
B) Fundamental Duty  
C) Political Right  
D) Civil Duty  

 

 
 
62) ଭାରତୀୟ ସƖିଧାନ ଅନୁଯାୟୀ ‘‘ଭାରତର ସାବƽେଭୗମତା, ଏକତା ଏବଂ 
ଅଖŢତା ବଜାୟ ରǅବା ଏବଂ ରŁା କରବିା’’ ଏକ _______  

A) େମୗଳକି ଅǇକାର  

B) େମୗଳକି କŧƽବȻ  
C) ରାଜେନତୖକି ଅǇକାର  

D) ନାଗରକି କŧƽବȻ  
 

 
 

63) Who among the following was the founder of Pala 
Dynasty?  

A) Narayanpala  
B) Gopala  
C) Dharmpala  
D) Devpala  

 

63) ନେିମȪାĽ ମାନŋ ମżରୁ କଏି ପାଲ ରାଜବଂଶର Ȅତƪିାତା ǆେଲ?  

A) ନାରାୟଣପାଳ  

B) େଗାପାଳ  
C) ଧମƽପାଳ  
D) େଦବପାଳ  

 

 
 
64) Which of the following did Dr. Babasaheb Ambedkar 
called as the ‘heart and soul’ of our Constitution?  

A) Right to equality  
B) Right to freedom of religion  
C) Right to constitutional remedies  
D) Right against exploitation  

 

 
 
64) ନେିମȪାĽମାନŋ ମżରୁ େକଉଁଟକୁି ଡକȡର ବାବା ସାେହବ ଆେମȴଦକର ଆମ 
ସƖିଧାନର ‘‘ହୃଦୟ ଏବଂ ଆŮା’’ ଭାବେର ଅବହିତି କରǆିେଲ?  

A) ସମାନତାର ଅǇକାର  
B) ଧାମǃକ Ƹାଧୀନତାର ଅǇକାର  
C) ସାƖିଧାନକି Ȅତକିାରର ଅǇକାର  

D) େଶାଷଣ ବେିରାଧେର ଅǇକାର  
 

 
 
65) Whose resolution of 1870 advocated decentralization 
of power and formation of municipal government?  

A) Lord Rippon  
B) Lord Neil  
C) Lord Michael  
D) Lord Mayo  

 

 
 
65) ୧୮୭୦ ମସହିାେର କାହାର ȄƱାବ Łମତାର ବେିକƄକିରଣ ଏବଂ 
ନଗରପାଳକିା ସରକାର ଗଠନର ପŁଧର ǆଲା?  

A) ଲଡƽ ରପିନ  
B) ଲଡƽ େନǤ   
C) ଲଡƽ ମାଇେକǤ   
D) ଲଡƽ ମାେୟା  
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66) Which of the following inquiry commission was 
instituted to look into the Jallianwala Bagh massacre by 
the British Government?  

A) Simon Commission  
B) Hunter Committee  
C) Simpson Commission  
D) David Commission  

 

 
 
66) Ȇଟିǧି  ସରକାରŋ Ÿାରା ଜାଲିଆନାଓȴାଲା ବାǚ  ଗଣ ସଂହାରର ତଦŽ କରବିା 
ପାଇଁ ନେିମȪାĽ ମżରୁ େକଉଁ ତଦŽ କମଶିନ ଗଠନ କରାଯାଇǆଲା?  

A) ସାଇମǜ କମଶିǜ  

B) ହŠǣ କମଟି ି 
C) ସƓିସǜ  କମିଶନ  

D) େଡଭǕି  କମଶିନ  
 

 
 
67) Which of the following subject studies the history, 
culture and folklore of the Indian sub-continent?  

A) Latinology  
B) Greekology  
C) Indology  
D) European  

 

 
 
67) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବଷିୟ ଭାରତୀୟ ଉପ ମହାŸୀପ ର ଇତହିାସ, 
ସଂƯତୃ ିଓ େଲାକକଥା ଗଡ଼ୁିକର ଅżୟନ କରଥିାଏ?  

A) ଲାଟେିନାେଲାଜୀ  
B) ǲୀେକାେଲାଜୀ  
C) ଇେŢାେଲାଜୀ  
D) ୟୂେରାପିଆǜ  

 

 
 
68) Who among the following is the Chief Spokesman of 
the State government in India?  

A) Speaker  
B) Governor  
C) Chief Minister  
D) Chairman  

 

 
 
 

68) ନମିȪଲିǅତ ମżରୁ କଏି ରାଜȻ ସରକାର ର ମୁଖȻ ȄବĽା ଅଟŽ?ି  

A) ȄବĽା  
B) ରାଜȻପାଳ  

C) ମଖୁȻ ମſୀ  
D) ଅżŁ  

 

 
 
69) Which layer reflects back the radio signal transmitted 
from the earth?  

A) Stratosphere  
B) Ionosphere  
C) Exosphere  
D) Mesosphere  

 

 
 
69) େକଉଁ  Ʊର  ପୃǆବୀ ପୃƪରୁ େȄରତି  େବତାର ସେŋତକୁ  Ȅତଫିଳତି 
କେର  ?  

A) ƩାେଟାƷିୟǣ  

B) ଆୟେନାƷିୟǣ  
C) ଏେŅାƷିୟǣ  
D) େମେସାƷିୟǣ  

 

 
 
70) What is the length of 1° of latitude (a one degree arc 
of a meridian) at the poles?  

A) 100.7 km  
B) 111.7 km  
C) 110.7 km  
D) 115.7 km  

 

 
 
70) େମରୁ ନକିଟେର 1° ଅŁାଂଶ ର ଲମȴ େକେତ େହାଇଥାଏ (ମżƃନି େରଖାର 
1 ଡǲିୀ ଚାପ ନମିେŽ)?  

A) 100.7 କ.ିମି  
B) 111.7 କ.ିମି  
C) 110.7 କ.ିମି  
D) 115.7 କ.ିମି  
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71) Which of the following lines is also called a 'Great 
Circle'?  

A) Tropic of Cancer  
B) Equator  
C) Polar Circle  
D) Meridian  

 

 
 
71) ନମିȪଲିǅତ  ମżରୁ େକଉଁ େରଖାକୁ "ବୃହǘ ବୃŧ" କୁହାଯାଏ  ?  

A) କକƽଟǰାŽ ି 

B) ବଷିୁବ େରଖା  
C) େମରୁବୃŧ  

D) ମżƃନି େରଖା  
 

 
 
72) Which of the following countries launched first ever 
Artificial Satellite to space?  

A) United Kingdom  
B) Republic of China  
C) United States of America  
D) Soviet Union  

 

 
 
72) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଦଶ ଅŽରŁି େର Ȅଥମ ଥର କୁǿମି ଉପǲହ ଲř 
କରǆିେଲ।  

A) ୟୁନାଇେଟଡ଼ କିŏଡǡ  
B) ରପିବିȲକ ଅǞ ଚାଇନା  
C) ୟୁନାଇେଟଡ଼ େƨଟ ଅǞ ଆେମରକିା  
D) େଶାଭିଏତ ୟୁନଅିǜ  

 

 
 
73) What was the main aim of Agenda 21 adopted at the 
'Earth Summit' in the year 1992?  

A) Protection of endangered species  
B) Sustainable development  
C) Economic decentralization  
D) Eradication of poverty  

 

 
 
 
 
 

73) 1992 ମସିହାର ପୃǆବୀ ଶଖିର ସƙିଳନୀେର ǲହଣ 
କରାେହାଇǆବା  21ଟ ି କାଯ଼ƽସଚୂୀର ମୂଖȻ ଉେŵଶȻ କଣ ǆଲା?  

A) ବଲୁିƌ Ȅାୟ Ȅଜାତରି ସରୁŁା  
B) ଧାରଣୀୟ ବକିାଶ  
C) ଅଥƽେନତୖକି  ବେିକƃକିରଣ  

D) ଦାରଦିȻ ଦୂରୀକରଣ  
 

 
 
74) Name the atmospheric layer placed between 
Stratosphere and Thermosphere?  

A) Troposphere  
B) Exosphere  
C) Tropopause  
D) Mesosphere  

 

 
 
74) Ʃାେଟାƶିୟର ଏବଂ ଥେମƽାƶିୟର ମżେର ǆବା ବାୟୁମŢଳର Ʊରର ନାମ 
କ’ଣ?  

A) େǺାେପାƶିୟର  

B) ଏେŅାƶିୟର  
C) େǺାେପାପǐ   
D) େମେଜାƶିୟର  

 

 
 
75) In the history of India, which among the following 
animals was declared extinct in the year 1952?  

A) Nicobar Pigeon  
B) Asiatic Cheetah  
C) Desert Fox  
D) Gangetic Dolphin  

 

 
 
75) ଭାରତର ଇତହିାସେର, 1952 ମସିହାେର ନମିȪଲିǅତ ମżରୁ େକଉଁ Ȅାଣୀକୁ 
ବଲୁିƌ େବାଲି େଘାଷଣା କରାଯ଼ାଇǆଲା?  

A) ନେିକାବାର ପାରା  
B) ଏସିୟ ଚତିା  
C) ମରୁ ଶୃଗାଳ  

D) ଗାେŏୟ ଡଲଫିǜ  
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Section 8 - PaperII-Science 

 

76) Read the following statements and choose the 
CORRECT option.  
(i) Mitochondria are called the power house of the cell. 

(ii) Usually the Red Blood Cells contain thousands of 
mitochondria. 

 
A) (i) is FALSE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is TRUE and (ii) is TRUE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
76) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) ମାଇେǺାକţିଆ କୁ େକାଷର ଶĽି େକƄ କୁହାଯାଏ | 

(ii) ସାଧାରଣତଃ େଲାହତି ରĽ କଣିକାେର ହଜାର ହଜାର ମାଇେଟାକţିଆ ଥାଏ | 

 
A) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  

C) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

 

 
 
77) The average energy consumed by a human being in 
a day  

A) 2400 x 10^6 cal  
B) 2400 kcal  
C) 240 cal  
D) 24 cal  

 

 
 
77) ଜେଣ ବȻĽି Ÿାରା େଗାଟଏି ଦନିେର ବȻୟ େହଉǆବା ହାରାହାର ିଶĽି େହଉଛ ି 

A) 2400 x 10^6 cal  
B) 2400 kcal  
C) 240 cal  
D) 24 cal  

 

 
 
 

78) To prevent the loss of water, the epidermis of thick 
waxy leaves contains which among the following, that is 
usually absent in the roots?  

A) Pith  
B) Sap  
C) Cuticle  
D) Cortex  

 

 
 
78) ଜଳ Łୟ େରାକବିା ପାଇଁ, େମାଟା ମହମ ଭଳ ି ପǿର ଏପଡିମǃସ େର 
ନମିȪମżରୁ େକଉଁଟ ିଥାଏ ଯାହା ସାଧାରଣତଃ େଚରେର ଅନୁପƳିତ ଥାଏ?  

A) ମŔା  
B) ରସ  

C) େଛଲି  
D) େକାେଟƽŅ  

 

 
 
79) The relation between Y(Young’s modulus of 
elasticity), η (Modulus of rigidity) and B (Bulk modulus of 
elasticity) is  

A) 9/Y = (3/η) + (1/B)  
B) 1/Y = (1/3η) + (1/9B)  
C) 1/η = (1/B) + (1/Y)  
D) 9/Y = (1/η) + (3/B)  

 

 
 
79) Y(ୟŏŋ Ƴିତ ି Ƴାପକ ଗଣୁାŋ ), η (ଦୃଢ଼ତାର ଗଣୁାŋ) ଏବଂ B (Ƴିତ ି
Ƴାପକŭର Ƴୁଳ ଗୁଣାକ) ମżେର ସƓକƽ େହଉଛ ି 

A) 9/Y = (3/η) + (1/B)  
B) 1/Y = (1/3η) + (1/9B)  
C) 1/η = (1/B) + (1/Y)  
D) 9/Y = (1/η) + (3/B)  
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80) A piece of ice (heat capacity = 2100 Jkg-1 °C-1 and 
latent heat = 3.36 x 105 J/kg) of mass m grams is at -5 °C 
at atmospheric pressure. It is given 420 J of heat so that 
the ice starts melting. Finally when the ice-water mixture 
is in equilibrium, it is found that 1 g of ice has melted. 
Assuming there is no other heat exchange in the process, 
the value of m is  

A) 8  
B) 10  
C) 6  
D) 4  

 

 
 
80) ପରିପାƤǃକ ଚାପେର -5 °େସŠେିǲǫ  ତାପେର mǲାମ ବƱୁŭ ବଶିƨି ଏକ 

ବରଫ ଖŢ (ତାପ Łମତା= 2100 Jkg-1 °େସŠେିǲǫ -1 ଏବଂ ସƌୁ ତାପ = 

3.36 x 105 J/kg) ରହଛି ି। ଏହାକୁ ତରଳାଇବା ପାଇଁ 420 J ବଳ Ȅେୟାଗ 

କରାଗଲା। େଶଷେର େଯେତେବେଳ ବରଫ- ଜଳ ମିȎଣ ସŽୁଳତି େହଲା 
େସେତେବେଳ େଦଖାଗଲା 1 ǲାମ ବରଫ ତରଳଛି ି। ମେନକରŽୁ ଏହ ିȄǰିୟାେର 
ଅନȻ େକୗଣସ ିତାପ ବଦଳ େହାଇନାହǂ, େତେବ mର ମଲୂȻ େହଉଛ ି 

A) 8  

B) 10  
C) 6  

D) 4  
 

 
81) In a typical eukaryotic cell, during the process of 
karyokinesis, at which stage does the nuclear envelop 
develops around the chromosome clusters at each pole 
forming two daughter nuclei?  

A) Metaphase  
B) Telophase  
C) Anaphase  
D) Prophase  

 

 
81) ଏକ ସାଧାରଣ ୟୁକାରଓିଟକି େକାଷେର, କାରଓିକେିନସସି Ȅǰିୟା ସମୟେର, 
େକଉଁ ପଯƽȻାୟେର ȄେତȻକ େପାǤ  ନକିଟେର େǰାେମାେଜାମ କȲƨର ଚାରପିାଖେର 
ନୁȻŀୀୟ ଆବରଣର ବକିାଶ େହାଇଥାଏ ଯାହା Ÿାରା ଦୁଇଟ ିଶିଶୁ ନୁȻକିȲ ତଆିର ି
ହୁଏ?  

A) େମଟାେଫଜ  
B) େଟେଲାେଫଜ  
C) ଆନାେଫଜ  

D) େȄାେଫଜ  
 

82) What does algae use to collect photosynthetically 
active light during the process of photosynthesis?  

A) Chlorophyll a  
B) Ribosomes  
C) Mitochondria  
D) Centriole  

 

 
 
82) ଆଲେଗ ଆେଲାକ ସଂେଶȲଷଣ Ȅǰିୟା ସମୟେର କଣ ବȻବହାର କର ି
ଆେଲାକ ସଂେଶȲଷତି ସǰିୟ ଆେଲାକ ସଂǲହ କରଥିାଏ |  

A) େକȲାେରାଫିଲ ଏ  

B) ରାଇେବାେଜାମ  
C) ମାଇେଟାକŢରିା  
D) େସŠିȱଅଲ  

 

 
 
83) Which of the following reactions is an example of 
reversible reaction?  

A) Reaction between sodium hydroxide and hydrochloric 
acid  

B) Reaction between sodium chloride and sulphuric acid 
C) Reaction between silver nitrate and sodium chloride  
D) Reaction between red-hot iron and steam  

 

 
 
83) ନମିȪମżରୁ େକଉଁ Ȅତǰିିୟା େହଉଛ ିଏକ Ȅତବିŧƽୀ Ȅତǰିିୟା?  

A) େସାଡୟିମ ହାଇେǼାŅାଇଡ ଓ ହାଇେǼାେକȲାରକି ଅମȲ ମżେର Ȅତǰିିୟା  
B) େସାଡୟିମ େକȲାରାଇଡ ଓ ସଲଫୁȻରକି ଅମȲ ମżେର Ȅତǰିିୟା  
C) ସଲିଭର ନାଇେǺଟ ଓ େସାଡିୟମ େକȲାରାଇଡ ମżେର Ȅତǰିିୟା  
D) ଉŧƌ ଲୁହା ଓ ବାƬ ମżେର Ȅତǰିିୟା  

 

 
 
84) Which of the following substances can be prepared by 
heating gypsum?  

A) Sodium hydroxide  
B) Baking soda  
C) Bleaching powder  
D) Plaster of paris  

 

 
 
 

Techofworld.In

Techofworld.In



Set Id : 53633_71 08-June-2019_Batch1_D.El.Ed Odia 

Page21of23  

84) ଜପିସମକୁ ଗରମ କର ିନମିȪମżରୁ େକଉଁ ପଦାଥƽ ତଆିରି କରାଯାଇପାରବି?  

A) େସାଡୟିମ ହାଇେǼାŅାଇଡ  
B) େବକŏି େସାଡା  
C) ବିȲଚŏି ପାଉଡର  
D) ପȲାƨର ଅଫ ପȻାରସି  

 

 
 
85) The potential energy of a certain spring when 
stretched through a distance S is 10 joule. The amount of 
work (in joule) that must be done on this spring to stretch 
it through additional distance S will be  

A) 60 J  
B) 20 J  
C) 30 J  
D) 10 J  

 

 
 
85) େଯେତେବେଳ ଏକ ନŵିǃƨ ƶିȱŏ୍ କୁ S ଦୂରତା େଦଇ ଟଣାଯାଏ, େସେତେବେଳ 
ଏହାର Ƴିତଜି ଶĽି େହଉଛ ି 10 ଜୁǤ । ଏହ ିƶିȱŏ୍ କୁ ଅତରିĽି S ଦୂରତା ପଯƽȻŽ 
ଟାଣବିା ନମିେŽ ସƓାଦତି େହଉǆବା କାଯƽȻ (ଜୁǤ େର)ର ପରମିାଣ େହଉଛ ି 

A) 60 J  

B) 20 J  

C) 30 J  
D) 10 J  

 

 
 
86) Consider an ambulance van moving along a straight 
horizontal road with a speed of 72 km/h. If the coefficient 
of static friction between road and tyres is 0.5, the shortest 
distance in which the ambulance van can be stopped is ( 
Given, g = 10 m/s2 )  

A) 40 m  
B) 72 m  
C) 30 m  
D) 20 m  

 

 
 
 
 
 
 
 
 

86) ଏକ ଆମȴ ɰଲାନȷ ଭȻାǜ   ଏକ ସଳଖ ସମାŽରାଳ ରାƱାେର 72 କ.ିମି./ଘŠା 
େବଗେର ଗତ ିକରୁଛ।ି ଯଦ ିରାƱା ଏବଂ ଟାୟାର ମżେର Ƴରି ଘଷƽଣର ଗଣୁାŋ 
0.5, େତେବ ଆମȴ ɰଲାନȷ ଭȻାǜ  ଅଟକି ପାରବିାର ସବƽନମିȪ ଦୂରତା େହଉଛ ି(ଯଦ,ି g 

= 10 m/s2 )  

A) 40 m  

B) 72 m  
C) 30 m  

D) 20 m  
 

 
 
87) The latent heat of vaporisation of a substance is 
always  

A) less than its latent heat of fusion  
B) greater than its latent heat of sublimation  
C) equal to its latent heat of sublimation  
D) greater than its latent heat of fusion  

 

 
 
87) ଏକ ପଦାଥƽର ବାƬୀକରଣର ସƌୁ ତାପ ସବୁ ସମୟେର  

A) ଏହାର ȁବଣର ସƌୁ ତାପ ଠାରୁ କǡ  
B) ବେିଶାଧନର ସƌୁ ତାପ ଠାରୁ ଅǇକ  

C) ବେିଶାଧନର ସƌୁ ତାପ ସହ ସମାନ  
D) ଏହାର ȁବଣର ସƌୁ ତାପ ଠାରୁ ଅǇକ  

 

 
 
88) Streptokinase produced by the bacterium 
Streptococcus is generally used as a  

A) Immunosuppressive agent  
B) Clot Buster  
C) Blood-cholesterol lowering agent  
D) Sugar lowering agent  

 

 
 
88) େƩେପȡାେକାକସ ବȻାେକȡରିଆ Ÿାରା ତଆିର ିେହଉǆବା େƩେପȡାକେିନସ 
ସାଧାରଣତଃ _____ ଭାେବ ବȻବହାର କରାଯାଏ |  

A) ଇମୁȻେନାସେȄସଭି ଏେଜŠ  

B) କȲଟ ବƨର  
C) ରĽେର େକାେଲƩଲ କମାଇବା ଏେଜŠ  

D) ଶକƽରା କମାଇବା ଏେଜŠ  
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89) Which of the following plants is an example of 
Epiphytes?  

A) Prickly Water Lily  
B) Tiger Orchid  
C) Date Palm  
D) Pineapple  

 

 
 
89) ନମିȪ ଉŹିଦଗଡୁକି ମżରୁ େକଉଁଟ ିଏପିଫାଇǓ  ର ଏକ ଉଦାହରଣ?  

A) Ȅିǉ ଲି ୱାଟର ଲିଲି  

B) ଟାଇଗର ଅଚǃଡ  
C) ଖଜୁରୀ ଗଛ  

D) ସପୁରୀ ଗଛ  
 

 
 
90) Terramycin drug is an antibiotic obtained from which 
of the following microorganisms?  

A) Streptomyces Ramosus  
B) Streptomyces Aureofaciens  
C) Streptomyces Fradiae  
D) Streptomyces Venezulae  

 

 
 
90) େଟରାମାଇସନି Ǽଗ େହଉଛ ିଏକ ଆŠବିାେୟାଟକି ଯାହା ନମିȪମżରୁ େକଉ ଁ
ସŃୂଜୀବ ଠାରୁ ମଳିଥିାଏ?  

A) େƩପିȡମାଇସସି ରାେମାସସ  
B) େƩପିȡମାଇସସି ଅରଓିଫȻାସଏିନ  

C) େƩପିȡମାଇସସି େȅଡ ି 
D) େƩପିȡମାଇସସି େଭେନଜୁଲି  
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Question Paper No:  53633_71  

Answer Key 

1.  D 
2.  B 
3.  D 
4.  C 
5.  A 
6.  A 
7.  B 
8.  C 
9.  D 
10.  B 
11.  B 
12.  C 
13.  B 
14.  A 
15.  C 
16.  D 
17.  B 
18.  B 
19.  D 
20.  C 
21.  C 
22.  C 
23.  C 
24.  B 
25.  C 
26.  A 
27.  C 
28.  C 
29.  D 
30.  C 

 

31.  D 
32.  B 
33.  C 
34.  A 
35.  A 
36.  D 
37.  D 
38.  C 
39.  A 
40.  D 
41.  A 
42.  A 
43.  B 
44.  C 
45.  B 
46.  C 
47.  A 
48.  C 
49.  C 
50.  B 
51.  A 
52.  A 
53.  B 
54.  B 
55.  B 
56.  B 
57.  D 
58.  A 
59.  B 
60.  D 

 

61.  C 
62.  B 
63.  B 
64.  C 
65.  D 
66.  B 
67.  C 
68.  C 
69.  B 
70.  B 
71.  B 
72.  D 
73.  B 
74.  D 
75.  B 
76.  D 
77.  B 
78.  C 
79.  A 
80.  A 
81.  B 
82.  A 
83.  D 
84.  D 
85.  C 
86.  A 
87.  D 
88.  B 
89.  B 
90.  A 
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